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 ANSWER-1 
 

Working Note: Is Let x be the cost of material and y be the normal rate of wage per hour. 

Factory Cost of workman Vishnu: 

Material cost  Rs. x 

Wages   60 y 

Bonus under Rowan System  = 
Time saved

Time allowed
 x Hrs. worked x Rate per hr. 

= (40 / 100) x 60 y = 24 y  

Overhead, i.e., 60 x 10 = 600 

Factory cost = x + 60 y + 24 y + Rs. 600 = Rs. 7280 or       x + 84 y = Rs. 6680 ...(1) 

Factory cost of workman Shiva: 

Material  Rs. x 

Wages   80 y 

Bonus under Halsey Premium Plan  = Hrs. Saved * 50 %  * Rate per hr. 

= 20* 50% * y = 10 y 

Overhead (80 x 10)   = 800 

Factory cost = x + 80y + 10y + Rs. 800 = 7,600 or               x + 90y = Rs. 6,800 ...(2) 

From (i) and (ii) value of y = 20 

 Rate per hour Rs, 20  

Bonus paid to Vishnu = 24 x Rs. 20 = Rs. 480 

Bonus paid to Shiva = 10 x Rs. 20 = Rs. 200  

(a) Normal Wages = Rs. 20 per hour as per Working Note above. 

(b) The cost of material: 

We know that x + 90y   = Rs. 6,800 

or x + (90 x 20) = Rs. 6,800 or x = Rs. 5,000 
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(8 MARKS) 

(c) Comparative statement of the factory cost of the product made by the two workmen 

  Vishnu Shiva 

Material Cost Rs. 5,000 Rs. 5,000 

Direct Wages 60 x 20 1,200 - 

80 x 20 - 1,600 

Bonus (See Working Note above) 480 200 

Factory Overhead 600 800 

Factory Cost 7,280 7,600 

 
(2 MARKS) 

 ANSWER-2 
 

Effective direct labour hours : 

Permanent workmen= 9,60,000 hours 

Apprentice workmen 50% of 80,000 hours 40,000 hours 

 10,00,000 hours 

Sales per direct labour hour : Rs. 200 lakhs / 10,00,000 = Rs. 20 

Loss of production hours : 

For replacement = 20,000 hours 

For apprentices = 40,000 hours 

Total   = 60,000 hours 

Loss of potential sales for loss of production hrs : 

= 60,000 x Rs. 20 == Rs. 12,00,000 

If there had been no labour turnover, sales would have been  

= Rs. 2,00,00,000 + Rs. 12,00,000 

= Rs. 2,12,00,000 

Direct labour for 20,000 hrs. lost due to replacement 

= (Rs. 40 lakhs/10,40,000) X 20,000 hrs. = Rs. 76,923  
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Materials and variable overhead for Rs. 12 lakhs sales = (110 lakhs/200 lakhs) x 12 lakhs = Rs. 

6,60,000 

Potential Profit with no labour turnover 

Sales Rs. 2,12,00,000 

Less : Direct labour (40,00,000 + 76,923) 40,76,923 

Direct material & Overheads (Rs, 1,10,00,000 + 6,60,000) 1,16,60,000 

Total variable cost 1,57,36,923 

Contribution 54,63,077 

Less: Fixed cost  10,00,000 

 44,63,077 

Actual profit  40,00,000 

Loss of profit due to labour turnover 4,63,077 

Alternatively, this result can be found out by considering the differentials only  

Loss of Sale  Rs. 12,00,000 

Less : Variable cost 

Direct labour 76,923 

Material & Overhead 6,60,000 7,36,923 

Loss of profit due to labour turnover  4,63,077 

Note. If the hours had not been lost due to labour turnover, there would have been sales increase 

due to utilisation of these hours. This sales increase might have resulted in increase of material and 

overhead cost. At the same time there might have been increase in labour cost also for use of 

labour during these hours lost. 

(10 MARKS) 

 

 

 



5 | P a g e  

  
 ANSWER-3 
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(6 MARKS) 

 

 

(2*2 = 4 MARKS) 

 ANSWER-4 
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